श्री बर्णी दिगम्बर जैन गुरुकुल समिति

पिसनहारी मदिया के सामने, गदा, जबलपुर (म.प्र.)

S.No. B. Ed /NCTE/08/001

Date: 27.10.2008

To,

Under Secretary, National Council for Teacher Education, Manas Bhavan, Shyamla Hills, Bhopal (M.P.)

Subject: Submission of Application Form for Establishment of a New B. Ed. College.

Ref. Name of College: Shri Varnri Digamber Jain Gurukul College,

Infront of Pisanhari Madiya, Garha, Jabalpur (M. P.)

Course B. Ed.

Dear Sir,

Please find enclosed herewith all necessary documents, the application form for Establishment of a New B. Ed. College at Jabalpur from the session 2009-10. A Demond Draft worth Rs. 40,000/- is also enclosed herewith.

Kindly accept it and do the needful so that the Inspection can be made within due period and hence the permission may be given to start the above said course from the session 2009-10.

Thanking you.

Encl.

1- A D. D. of Rs. 40,000/-

No. 679365 Date 27.10.2001 Bank State Bank & India Tabalken. Your, s faithfully

2. AD.D. & RI-1000/ NO. 679333 Date: 31.10, 2008, Back & Maharaslia, Bhoppel, vidoy (4.4.)

3. FDR's BRS. 2,69,273+2,49,489=RS. 5,18,762=00

No. (690829) No. 690830 4. FDR's 9 Rs. 2 lacs + 1 lakh = Rs. 3 lace

No. 534629 690828 (Reserve Fund)

	For office use	
Code No	Year 200B	_
	<u> </u>	
Date of Application	on_27·10, 2008	:
Course	Ed	
Category: New In	stitution/New-Course/Additional-Intake	
Type of Managen	ient Society	1
Affiliating Body	Rani Bulgavati Victoranio	مربا
	Jahalhun (M.P.)	0

Form of Application for Grant of Recognition to Institutions including Permission for Conducting a New Course/Additional Intake in Teacher Education Programme under Section 14/15 the NCTE Act, 1993



National Council for Teacher Education Address of the Regional Committee concerned with address of the Website/e-mail/Telephone/Fax

Price Rs. 1000/-

Application for Grant of Recognition/Permission to Institutions for conducting a New Course/Enhancement of Intake under Section 14/15 of the NCTE Act, 1993

	NOTI	E: Please refer t	o the instruction	ons at page-1	4 before subi	nitting the applic	ation.
		DATE OF SU	JBMISSION_	31.10.200	8 APPLICA	TION ID	· · · · · · · · · · · · · · · · · · ·
1.	Partic	culars of the authorize		, , , , , , , , , , , , , , , , , , ,	•		
	1.1	Name of the Applicar	$_{ m nt}$ ${\cal B}$	a Tine.	eh Krun	hand Ja	
	1.2	Father's/Husband's N	lame	_			<u>ui</u>
٠	1.3	Occupation		Socia	e Worke	٨	<u> </u>
	1.4	Official Position in the Body of the Society/7		Deo	u e		
2.	Partic	ulars of applicant So	ciety/Trust/Boo	ly			•
	.2.1	Name of the applican	t Society/Trust/			RNEE DIGAM MADHIAJI	TABALPUR
	2.2	Whether a copy of Ce and MOA/ Bye-laws (Applicable in case the Complete Postal Add (Strike out/ Leave bla	attached. One institution is ress of the application.	managed by sicant Body.		rimex.	(M·P.)
		Door/Plot Number	INFRONT	OF PI	SANHARI	MADHIYA	JAIN -
		Street Number	MANDIR	NAC	SPUR RO	AD	· .
		Village/Town	GAR	HA		<i>i</i>	
	,	Post office	JAB	ALPUR	· · · · · · · · · · · · · · · · · · ·		
		Tehsil/Taluka	TABALP	UR	Town/City_	JABALPUI	<u> </u>
		District	JABALP	UR	Pin Code	482003	· · · · · · · · · · · · · · · · · · ·
ўг. И.		State	- b. b.		STD Code_	0761	. '
		Telephone No.	26718	28	Mobile No.	9424690	607
un eleker Strotzen Martieta Strotzen	gu Historia Natur	Fax No.	.2672	991	E-Mail ID <u></u>	www.jmech	haiya Q
		Website Address	www.v	arneegi	unukul.	rrg	yahoo.com
				Ų			•

3. Details about the programme/course applied for

(i)	Nature of proposal (Please tick only one choice)	1 :	Recognition ent of Intake I Course
(ii)	Name of the Course applied for	B E d	- •
(iii)	Level of the Course applied for	Graduate	ion
(iv)	Medium of Instruction	Hindi and	d English
(v)	Whether Course Curriculum fulfills the duration stipulated by NCTE norms and standards	YES	
(vi)	Mode	Distance/ Face to	Face Face to Face
(vii)	Intake proposed	100	
(viii)	Affiliating Body/University	Name	Rane Dugavati V.V.
	· · · · · · · · · · · · · · · · · · ·	Address	Pachpedi, Jabalbur
		Telephone No.	
(ix)	Normal month of commencement of the course	12 Mon	the

4. Particulars of the applicant institution

4.1	Name of the Institution
	(in capital letters)

SHRI VARNEE DIGAMBER JAIN GURUKUL COLLEGE, JABALPUR (M.P.)

4.2 Complete Postal Address [As mentioned in the Affidavit]

(Strike out/ Leave blank any of the following which is not applicable)

Land Identification (Plot/Khasra No.) 403/1, 403/2, 310, 316/2

Address of the Land INFRONT OF PISANHARI MADHIYA JAIN

MANDIR

Door/Plot Number MANDIR

Street Number NAGPUR ROAD

Village/Town GARHA

Post office JABAL PUR

Tehsil/Taluka JABALPUR Town/City JABALPUR

District JABALPUR Pin Code 482003

State M. P. STD Code 0 761

Telephone No. 2671828 Mobile No. 09424690607

	Fax No.		1-26729	.	_E-Mail ID_	www.	jines	l bhaiya (C Yahoo. c
	Website A	.ddress	www.vas	rneegie	rakul.or	9		yahoo, c
4.3	Whether th	ne institution i	ധയം ശ്രമ is for (tick in th	e box)	-Ed			
	Boys		Girls	:	Co-I		~	
4.4			is a Minority in oof issued by th			es :	No Y	
4.5	Type of M	anagement (P	lease tick only	one out of t	he following)			
:	(ii) A (iii) A (iv) A c (v) ✓ A s (vi) An (Ple Go	self- financing y other, please ease attach su vt./State Govt st, a certificate	stitution artment university Pvt/ private institute e specify. pporting document to this effect fr	nents. In c the extent com the Gov	of not less the vernment cond	n 50% (erned.)	of their re	curring
4.6 Sl. No	Society/Tro		Academic session	Existing approved	mes/courses r Region Commit	al	Name o	of Affiliating
	institution	programme	from which commenced	intake	Recognition Order Number		Name	Body Date of Affiliation
			- N A					
								1
4.7	Details of applicant S	courses other ociety/ Trust/	n 1	Education A ·	Programme i	f any, r	un by the	e same
4.7 Sl. No.	Details of applicant S Name of the	courses other ociety/ Trust/ Name of course/progr	Body. N. the Level	A · lof Dura	tion Year	of		e same
Sl.	applicant S Name of	ociety/ Trust/ Name of	Body. N. the Level	A · lof Dura	tion Year he starting	of g of		

4.8 Details of the application(s) for teacher education programme(s)/course(s) already submitted by the same applicant society/trust/body which is/are pending for final decision

SI. No	Name of the institution	Date of application	Code No.	Name of the programme	Academic session for which applied	Proposed intake	Regional Committee to whom applied	Status
	·			- N.A.				

5. Fees and Funds

5.1 Details of cost of application form of Rs. 1000/(not applicable in case of application submitted online)

Draft Number		- (:			Ť	
Date	-/					 	 -	
Name of the Nationalized Bank					:		 -	
Name of the Branch						 	 - :	
Address						 	 -	
Receipt Number, if purchased		 	 		·	 · .	 	

5.2. Details of Processing Fee of Rs. 40,000/- only

10.200 Bank B	
Bank 10	8015
_	gracia
km CM	.1-)
u colle	ge Zabalber
YV	N yes
_	

(Please see Rule 9 of NCTE Rules, 1997 in terms of which Government Institutions are exempt from payment of processing fee)

D.D. in original Cheloced

Hunex.

Details of the Endowment fund (self-financed institutions/programmes)?
(Please see Clause 10 (1) of the NCTE (Recognition Norms and Procedure) Regulations, 2007 published on 10.12.2007)

(i) Particulars of the Endowment fund (to be filled in the case of self-financed institutions/ programmes)?

Rupeer five lacs	Eighteen Thousands, Seven hundred &
Amount of Endowment Fund	2.69,273+249489=5,18,762/-
Fixed Deposit Receipt Number	690829 and 690830
Duration of the FDR (Minimum five	
years)	Five years
Date of issue	30,10,2008 and 30,10,2008
Name of the Nationalized Bank	Mahakawahal Kahetriya Granin Bank
Full address	Pixanhari Madiya, Yabalkus (M.1.)
Phone numbers.	
Has the FDR been enclosed in original	YV N Yes
	(Armae Y

(ii) Particulars of the reserve fund (to be filled in the case of self-financed institutions/ programmes)?

Amount of Reserve Fund	1 Lakh + Rs. 2 lace = 3 lacs
Fixed Deposit Receipt Number 50	14 534629 2 MGF 690828
Duration of the FDR (Minimum five	(2 lace) (1 lath)
years)	Fine years
Date of issue	27.10.2008 2 27.10.2008
Name of the Nationalized Bank	State Bank & India (2 lees)
Full address	Medical College Takal fur 4
Phone numbers.	0761 - 518048
Has the FDR been enclosed in original	Y N Yes
	/Amex. 1

Details of Infrastructural Facilities available for proposed programme/course

(i) Area of the land in possession (in sq. mts.)

6.

1 7 913.052

(ii) Built up area earmarked for the course (in sq. mts.)

1 5 53-7525

(iii) Whether an affidavit on Rs. 100/- stamp paper duly attested by Notary / Oath Commissioner on the prescribed format as required under Clause 8(8) of the NCTE Regulations, 2007 has been submitted.

Yes No

(iv) Whether certified copies of land ownership/lease documents are enclosed as per Regulation 8(8) of the Regulations, 2007

Yes No

(v)	Whether English Version of Land Ownership/Lease Documents, duly Notarized are enclosed	Yes No
(vi)	Whether copy of approved building plan is enclosed.	Yes No
(vii)	Whether copy of building completion certificate is enclosed, in case building is constructed	Yes No
(viii)	Whether the building constructed is proposed to be constructed in the same land as indicated in col. 4.2	Yes No

6.1 Building (Please refer to Clause 8 of NCTE (Recognition Norms and Procedure) Regulations, 2007

Description	To be filled in by Institution
i) Date of approval of the Building plan by the competent authority/State Govt.	D D M M Y Y Y Y Y L 2 0 7 2 0 6 6
ii) Date of completion of construction of the building, if already completed	D D M M Y Y Y Y Y 1 2 0 0 7 2 0 0 7
iii) If construction of the building is not complete, the likely date of completion of construction $N \cdot A$	D D M M Y Y Y Y A.
iv) Name and address of the competent authority for approval of building plan and issue of completion certificate	Jababer Division, Jababer (M.P.)
v) Whether completion certificate obtained from the competent authority	YES Y/N Given on Building Maps Amex.
vi) Whether Bldg. disabled –friendly as per relevant laws.	N-A. Y/N
vii) Whether fire safety norms are being followed.	YES YN
viii)Total Built up Area (in sq. meter) (in sq.ft.)	1 5 5 4 1 6 7 2 5

6.2 Specification of Rooms and other infrastructural facilities

er Et	S.No.	Description	Room No.	Length fee	Breadth In meter	Carpet area in sq. f.
er gr	1	2	3	4 feet		meter Sq. 6 feet
-	1	Class Room	1.	40	26	1040
	2	Class Room	2	40	T 3	\$ 20
	3	Multipurpose Hall	3	49	24	1176
	4	Multipurpose Room	4	49	36	1764
	. 5	Seminar room/tutorial room	5	49	36	1764
	6	Library	6	40	26	1040
	7	Principal Room	7	40	13	\$ 20
	8	Administrative office	8	40	13	520
	9	Store Room	g	26	13	338
	10	Sports Store Room	10	ΓQ	ΙO	100
	11	Girls Common Room	11	01.	10	100
	12	Boys Common Room	12	10	10	Too
	13	Art & Crafts Room	13	40	1.3	520
	14	Music Room	14	40	13	5.20
	15	Socially Useful Productive Work (SUPW) Room	15	40	13	520
	16	Science Lab1	16	40	T.S	520
	geria.	Science Lab2	17	40	13	\$ 20
1000	894 f	Psychology lab	iB	40	Т3	\$ 20
	20. %)	Educational Technology (ET) /ICT Lab	19	40	73	520
	20	Workshop	20	40	13	620

S.No.	Description	Room No.	Length In meter	Breadth In meter	Carpet area in sq. meter
1	2	3	4	5	6
21	Any other Room/Hall	21	30	30	900
22	Toilets (i) Male	22	30	30	900
	(ii) Female	23	30	30	900
23	Any other facility may be specified	24	110	8	880

A Copy of Certified & Approved Building Map Instructional Facilities enclosed. Amex.

7.1 Library

Total number of Books

0 3 3 2 9

7.2 Manpower

7.

Lick & Accession Register enclosed.

7.2.1 Academic and Non-Academic Staff (Applicable for existing institutions)

Teaching & Non- Teaching Staff Profile
7.2.1.1 Details of Academic Posts available at present enclosed. Amex.

Name of the Post	Number of Post	Pay Scale	No. of Filled Posts	No. of Vacant Posts	
Principal	ा	AS PLL NCTE NGLING	0.1	Will	
Lecturer	07	As ker NCTE norms	07	will	
				1 / 1	
	:				

Teaching Statt Profile enclosed.

7.2.1.2 Details of Non-Academic Staff available at present

	Name of the Post	Number of Post	Pay Scale	No. of Filled Posts	No. of Vacant Posts
	Librarian		As per NCTE norms	01	Nill
ŀ	Sports Teach	a 01	As par NCTE	οτ	Nill
-	Music Teacher	01	155 per NOTE norms	10	Nill .
L					
L					

8. Arrangement for Games and Sports

8.1 Details of availability of playgrounds

Sl. Number of Playgrounds	Length in meter	Breadth in meter	Area in sq mt.
1. 7	60	30	1800
2 - II	50	30	1500

ट्ये. जितेश कुमार जी

(Signature of the authorized designated authority giving undertaking alongwith his/her official position and office Seal)

महा, जवसपुर (म.प्र.)

Undertaking

That I have read and understood the contents of the application and the same are true and correct on the basis of my personal knowledge and on the basis of records of the institution.

In connection with my/our application for grant of recognition/permission of conduct A. Ed. course with 100 intake/additional intake, and hereby undertake to comply with the following:-

(i) That infrastructural, instructional and other facilities has been/shall be provided as per the NCTE norms, standards and guidelines prescribed from time to time.

- (ii) That admission to the Course will be made only after recognition is granted by the concerned Regional Committee of the NCTE and affiliation is granted by the concerned University/Affiliating Body.
- (iii) That admission of students, satisfying the eligibility conditions will be made either on the basis of marks obtained in the qualifying examination or in the entrance examination conducted by the State Govt./University as per its policy.
- (iv) That there shall be reservation of seats for SC/ST/OBC/other categories etc. as per the Policy of State Govt.
- (v) That the supporting and other staff will be appointed as per the guidelines of the State Govt./the affiliating University.
- (vi) That the tuition and other fees will be charged at rates prescribed by the concerned state Govt./affiliating University.
- (vii) That the academic and other staff of the institution (including part time staff) shall be paid such salary as may be prescribed by the concerned State Govt./University from time to time.
- (viii) That the Management shall discharge the statutory obligations relating to provident fund, pension, gratuity etc in respect of all its employees.
- (ix) That the Management will make adequate funds available for providing satisfactory facilities and for proper programme implementation.
- (x) That the accounts of the institution will be properly maintained and audited annually by the audit authorities or a Chartered Accountant, and will be open for inspection.
- (xi) That the Management will strictly follow all conditions and norms prescribed by NCTE from time to time, conduct the programme in all earnestness, and submit itself to inspection by the NCTE.
- (xii) In the event of non-compliance by the Curricul Saniti. Va hatture. (Name of the Society/Trustee/College/ Institution etc.) with regard to the norms and standards and any other condition laid down/prescribed by the NCTE from time to time, the NCTE or a body or a person authorized by it will be free to take all necessary measures for effecting withdrawal of its recognition or permission, without consideration of any other issue, and that all liabilities arising out of such a withdrawal would solely be that of the Institution/Management.
- (xiii) That the Management will not cause or allow discontinuation of the Course in any year or for any batch after grant of recognition, and that where compelled to do so, it will seek the concurrence of NCTE for discontinuation on the completion of the year/batch.

(xiv) The (College/Institution) by virtue of the approval given by the NCTE shall not automatically become claimant of any financial grant or assistance from the Central or State Govt., or support from the NCTE.

(Signature of the authorized designated authority alongwith his/her official position and office Seal)

BR. JINESH KUMAR JAIN

NAME IN BLOCK LETTERS

Place: <u>Jakalper</u> (M.P.)

Date: 27. 10. 2008

(Format of affidavit to be given on Rs. 100 Non-Judicial stamp paper duly attested by Oath Commissioner/ Notary Public)
(In terms of provision of NCTE (Recognition Norms and Procedure) Regulation 2007 as amended to time to time)

AFFIDAVIT

1, Bs. Tinech Kumar Jain (Name of the authorized person)
son of shor Heckliew Chand Jam and Dean of the
this Vorni Sigamber Tain Guruhul Lociety Labalphrame of the College / Institution /
Trust / Society, etc.) aged about 42 years, resident of
, am the authorized signatory of the application made to the Regional Committee of the National Council for Teacher Education at Bhopal/Bhubaneshwar/Jaipur/Bangalore seeking grant of recognition / permission for conducting a course in Teacher Education titled B.Ed. with intake/additional intake of 100
2. That the Skri Varni Digamber Jain Gurnhal Locid Society / Trust / Institution / College (strike out whichever is not applicable) is in possession of land as per the following
description: -
2.1 Total Area of the land (in sqr. Mts.) 17913.052 Squits
2.2 Address: Infront of Picarhari Markiya, Naghur Road, Gasha, Zabalkur Plot No:
Khasra No: 403/1, 403/2, 310, 318/2
Village/Town/City: Nagfur Road, Gasha, Jakalpur (M.P.) District: Jakalpur (M.P.)
Otate. 171 F.
Bounded by
North: Gout. Medical Llaff Quallers
South: Rain Bacela Ichool
East: Khali Maidan
West: Gout Medical Harld
Registered in the office of: Registras, Land Revenue and Records, Tabal
on 29.11.1945 pua

4. That the land is free from all encumbrances. Y--

- That the land is exclusively meant for running the educational institution and the permission of the Competent Authority to this effect has been obtained vide letter No. 692 dated /3・0 す・20% and a copy thereof is enclosed.
- That the said premises shall not be used for running any educational activity/institution. other than the teacher education programme for which recognition is being sought.
- That the copy of the affidavit shall be displayed on the website of the Institution for general public.
- I do hereby swear that my declaration under Para's(1) to (6) are true and correct and that it conceals nothing and that no part of this is false. In case the contents of affidavit are found to be incorrect or false, I shall be liable for action under the relevant provision of the Indian Penal Code and other relevant laws.

जिनेश क्रमश्राजिं Signature:

Name of the Applicant: Br. Timech Kumar Jain

Address: Infront of Pisauhari Madhiya,

Shri Varni sigamser Jain Guenkul Nagpur Road, Gasha, Tabalpur (M.R.)

Tel :0761: 2671828,09424690607

E-mail address : www. jinechbhaiya @ yahoo. com : www. varneegurukul. org

Website address

Place: <u>Jabalpur</u> Date: 27.10.2008



A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 6/27/2015 12:25:05 PM

Mode of Payment: DD/Payorder/Banker's

Cheque

DD/Payorder/Banker's Cheque Date:

29/05/2015

APPLICATION ID: WRCAPP3028

DD/Payorder/Banker's Cheque Number: 77606

DD/Payorder/Banker's Cheque Bank: CENTRAL BANK OF INDIA, TILWARA GHAT

JABALPUR

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

: KAMAL KUMAR DANI

Designation

: SECRETARY

Address

: 429,PAN DARIBA ,LORD GANJ , JABALPUR

E-mail Address

: suniljain337@gmail.com

Telephone No (Office)

: 07612671828

Telephone No (Resi)

: 07612673972

Mobile No.

: 09425453571

Name of the Applicant/Organization/Socity/Trust

GURUKUL JABALPUR

: SHRI VARNEE DIGAMBER JAIN

Postal Address of the Applicant

Plot Number

: 403/1,310,

Street/Road

: NAGPUR

ROAD, GARHA

Village/Town/city

: JABALPUR

Post Office

: JABALPUR

Tehsil/Taluka

: JABALPUR

Town/City

: JABALPUR

State

: MP

District

: Jabalpur (MP)

Pin Code

: 482003

STD Code

:0761

Telephone No

: 2671828

Fax No.

: 2673972

E-mail ID

Website Address

www.varneegurukul.or

suniljain337@gmail.co

Permanent Account Number of Society/Trust/body

: AAABS2715E



A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant /

Organization / Society / Trust

Name and Address of the Institution	Name of the Programme	Level of the Programme	Duration of the Programme	starting the	Name of the Affiliating Board/Univer.	Date of Affiliation
SHRI VARNEE	B.Ed.	Secondary				Feb 15
DIGAMBER JAIN						2011
GURUKUL COLLEGE		holografia, on a const		n na vina draka	VISHWAVIDY	- 10
JABALPUR					ALAYA	
				.i	JABALPUR	





A Statutory Body Of The Government Of India

Particulars of Applicant Institution

Institution Information

Name of the Institution

: SHRI VARNEE DIGAMBER JAIN GURUKUL COLLEGE

JABALPUR

Programm Applied for

: M.Ed

Nature of Application

: New Recognition

Mode of Course

: Face

Complete Postal Address[As mentioned in the Affidavit]

Land Identification (Plot/Khasara No.)

Land Title

: SHRI VARNEE DIGAMBER

Plot Number

: 403/1,310,

JAIN GURU

Street Number

: GARHA PURW

Village

: JABALPUR

Post Office

: JABALPUR

Tehsil/Taluka

: JABALPUR

Town/City

: JABALPUR

State

: MP

District

: Jabalpur (MP)

Pin Code

: 482003

Telehpone No

: 0761-2671828

Fax No.

: 0761-2673972

E-mail ID

: suniljain337@gmail.com

Website Address

: www.varneegurukul.org

Institution is for

: Coed

Institution is a Minority Institution

: N.A.

Type of Institutions

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: RANI DURGAWATI VISHWAVIDYALAYA JABALPUR

Address

: PACHPEDI DUMNA ROAD JABALPUR

Telephone Nos.

: 0761-2600567



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes

Details of Existing Teacher Education Programmes run by the same applicant

Society/Trust/Organisation/Company

				T	7	·		
i	Name of the	Name of the		Existing	Recognit	Recognition	Name of	Date of
i	Institution	Programme	Commenceme	approve	ion	Order Date	Affiliatin	Affiliatio
			nt of the	d intake	Order		g	n
		,	Programme		Number		Board/U	
-							niversity	
	SHRI VARNEE	B.Ed.	29/10/2009	100	WRC/5-	10/29/2009	RANI	02/15/20
ı	DIGAMBER	:			6/APW0		DURGA	11
ł	JAIN		:		8201/22	1	WATI	
L	GURUKUL				3797/12		VISHWA	
ı	COLLEGE			ĺ	5/2009/		VIDYAL	
ŀ	JABALPUR				R-5344		AYA	
ŀ						į	JABALP	
L						i	UR	





A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the Institution	l	Applicati on ID	Name of	Academic session for	Proposed intake		Status
				applied		applied	



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme

Area of the land in possession (in sq. mts.)

: 17913.052

Built up area earmarked for the programm (in

: 3659.01

sq. mts.)

Whether the building constructed / proposed to : Yes

be constructed on the same land.

Date of completion of construction of the

: 26/03/2009

building.

Name of the competent authority for approval of : NAGAR NIGAM JABALPUR AND A E PWD JBP building plan and issue of completion certificate

Address of the competent authority for approval : BHAVAN ADHIKARI NAGAR NIGAM JABALPUR &

of building plan and issue of completion

ASSIST. ENGINEER PWD SAMBHAG KRAMANK 2

JABALPUR certificate

Whether Bldg. is disabled -friendly as per the

: Yes

law.

Total Built up Area (in sq. meter)

: 9210.130

Total Built up Area (in sq.ft.)

: 99101



Description	Room No.	length in meter	Breadth in meter	Carpet area in sq.
Class Room	13	8	10	80
Class Room	27	6	17	102
Class Room	6	15	16	240
Class Room	31	10	20	200
Class Room	21	8	10	80
Class Room	25	6	8.5	51
Class Room	8	10	20	200
Seminar room / Tutorial room	23	13.7	24.4	334.28

Library	6	15	Lo	
Administrative Office	4	6	8.5	51
Store Room	3	6	8.5	51
Store Room	30	4	10	40
Sports Store Room	11	4	10	40
Girls Common Room	22	6	8.5	51
Boys Common Room	14	8	10	80
Art & Crafts Room	18	.8	10	80
Music Room	15	8	10	80
Socially Useful Productive Work (SUPW) Room	16	8	10	80
Science Lab1	28	6	17	102
Science Lab2	29	6	17	102
Psychology Lab	26	6	17	102
Workshop	7	15	16	240
Any other Room / Hall	24	4	10	40
Class Room	2	6	8.5	51
Multipurpose Hall	5	15	18.5	277.5
Principal Room	1	6	8.5	51
Administrative Office	11	4	10	40
dministrative Office	1.1	4	10	40
ducational echnology (ET) / CT Lab	31	10	20	200
ny other Room / 2	23	13.7	24.4	334.28

Page No: 7

Hall				
Toilets (Male)	10	4	10	40
Toilets (Male)	9	4	10	40
Toilets (Female)	17	4	10	40
Toilets (Female)	12	4	10	40
Any other facilities	19	8	10	80
Any other facilities	2	8	10	80



A Statutory Body Of The Government Of India

Details of Instructional Resources

Library

Total number of Titles

: 1679

Total number of Books

: 6739

Journals

: 12

Computer Laboratory

No. of Computers

: 20

Internet Access

: Yes

LAN

: Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

		Processi		
Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
LECTURER	7	15600-20500	7	0
PRINCIPAL	1	20500-33500	1	0

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
LIBRARIAN	1	8000-13500	1	0
LIBRARY AS	1	5000-8500	1	0
COMPUTER O	1	5000-8500	1	0
SECURITY	1	5000-8500	1	0
LAB TECHNI	4	6500-9000	4	0
SPORTS OFF	1	8000-13500	1	0

Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
ı		· ·		· ·

				Posts
ACCOUNTANT	1	5000-8500	1	0
PEON	1	4000-7000	1	0
DIRECTOR	1	8000-13500	1	0



A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq. meter
1	60	30	1800
2	60	30	1800

Website: www.ncte-india.org